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BUSINESS STUDIES FORM 3

ANSWER ALL QUESTIONS

1. Explain five reasons why businesses are getting computerized.			             (10 mks)

i)..................................................................................................................................................................................................................................................................................................................
ii)................................................................................................................................................................................................................................................................................................................. iii)................................................................................................................................................................................................................................................................................................................
iv.................................................................................................................................................................................................................................................................................................................
v).................................................................................................................................................................................................................................................................................................................
2. Explain the following terms

i) Insured 
........................................................................................................................................................................................................................................................................................................
ii) Insurer
........................................................................................................................................................................................................................................................................................................
iii) Compensation
........................................................................................................................................................................................................................................................................................................
iv) Benefits
........................................................................................................................................................................................................................................................................................................
v) Sum assured

3. Explain five causes of dissolution of a partnership.					         (10 mks)

i)..................................................................................................................................................................................................................................................................................................................
ii)................................................................................................................................................................................................................................................................................................................. iii)................................................................................................................................................................................................................................................................................................................
iv.................................................................................................................................................................................................................................................................................................................
v).................................................................................................................................................................................................................................................................................................................
4. Discuss five negative effects of a high population to an economy.			            (10 mks)

i)..................................................................................................................................................................................................................................................................................................................
ii)................................................................................................................................................................................................................................................................................................................. iii)................................................................................................................................................................................................................................................................................................................
iv.................................................................................................................................................................................................................................................................................................................
v).................................................................................................................................................................................................................................................................................................................
5. Enter the following transactions in the appropriate ledger a/cs

March	1 Cash sales of shs. 300,000
		2 Credit purchases of shs. 40,00
		4   Credit purchases of  a motor van worth shs. 400,000 from Keima motor
		6 Converted a personal land worth shs. 600,000 into a business asset
		10  Purchased an office equipment worth shs. 100,000 paid by cheque




























6. Ouma’s trial balance failed to agree. Explain five causes of this failure.		             (10 mks)

i)..................................................................................................................................................................................................................................................................................................................
ii)................................................................................................................................................................................................................................................................................................................. iii)................................................................................................................................................................................................................................................................................................................
iv.................................................................................................................................................................................................................................................................................................................
v).................................................................................................................................................................................................................................................................................................................
7. Njambi’s business had the following items as at 31.12.07 

Cash sh. 60,000, Bank shs. 100,000, Debtors shs. 90,000, Creditors shs. 70,000, Loan shs. 180,000, Building shs. 740,000, Sales shs. 600,000, Purchases shs. 360,000, motor vehicle shs. 500,000, Electricity shs. 10,000.

Prepare a trial balance								      (10 mks)





















8. Classify the following account into personal or impersonal.				       (10 mks)

	
	
	Personal
	Impersonal

	a
	Wages
	
	

	b
	Capital
	
	

	c
	Miss Kagendo
	
	

	d
	Igoki C. Ltd
	
	

	e
	Machinery
	
	

	f
	Rent
	
	

	g
	Supplier
	
	

	h
	A debtor
	
	

	i
	Lawn mower
	
	

	j
	Drawing
	
	










9. Complete the table below									(5 mks)

	ASSETS
	LIABILITIES
	CAPITAL

	695,400

	364,000
	

	

	462,500
	571,300

	539,650

	
	325,42

	733,880

	349,200
	

	933,780

	
	549,690



10. State the effect of the following on the balance sheet totals by ticking the appropriate column.
(5 mks)
	Transaction
	Increase
	Decrease
	No effect

	Invested cash in a business
	
	
	

	Took goods for personal  use
	
	
	

	Withdrew cash from the bank for Business use
	
	
	

	Took a bank loan for the business
	
	
	

	Paid creditors by cash

	
	
	


												
11. Explain five benefits of an entrepreneur in a society.					             (10 mks)

i)..................................................................................................................................................................................................................................................................................................................
ii)................................................................................................................................................................................................................................................................................................................. iii)................................................................................................................................................................................................................................................................................................................
iv.................................................................................................................................................................................................................................................................................................................
v).................................................................................................................................................................................................................................................................................................................
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